Completing @ of the return form
Refer to the example below when

CO nS u m pti O n taX Ca I CU I ati O n calculating your consumption tax.

. step.1 Arrange the details of your taxable transactions Use e miammeien aspeering i i

Calculate the total amount of sales (exclude consumption and local consumption table for determining the taxability of
taxes) relating to taxable transactions effectuated during the taxable period consumption tax transactions on P44,
(January 1st to December 31st, 2021). which provides a standard for determining
whether or not a certain business is
Use the table for calculating taxable transactions (Table A). (P37) taxable.

step.1-1 Enter the amounts by tax rate from ledgers, etc.(separate accounting) to column ) o
A of the table for calculating taxable transactions(Table A). In the case of income dirived from
agriculture or real estate, arrange the
step.1-2  Enter the portion of the amounts in column A that is not related to taxable details of your taxable transactions
transactions in column B. using the table for calculating taxable

step.1-3  Calculate the amounts in column A that represent taxable transactions (amount transactions for each source.

of taxable transactions; the difference between the values in A and B) and enter
the result in column C.

step.1-4  Enter the 6.24% tax rate applicable in column D, and the 7.8% tax rate applicable
in column E from column C.

Example: Kouno Store

The following is an example of how to complete the Consumption and local consumption taxes final return form.

Kouno Store is business that sells merchandise retail.

O Its income for 2021 was limited to business income derived from retail sales and the sale of fixed business
assets (capital gains).

O lts taxable sales for 2019, its base period, was ¥19,951,456.

O lts entries pertaining to consumption and local consumption taxes were effectuated using the "tax included
accounting method".

O It was a Tax-exempt business in 2020.

O The following(P15) represents the results taken from ledgers, etc.(separate accounting) entered in the table for
calculating taxable transaction.

The following are special mentions concerning consumption and local consumption taxes.

* ¥350,000 worth of sales from beer coupons (Non-taxable transaction) is included in its total sales (revenue) of ¥22,730,000.
Of the sales amount ¥22,380,000, the taxable transactions, tax rate 6.24% applicable amount is ¥13,110,000, tax rate 7.8%
applicable amount is ¥9,270,000.

* Its initial inventory which is all from taxable transaction (7.8% tax rate applicable) was purchased when it was a Tax-exempt
business.

* The purchase of ¥320,000 of beer coupons (Non-taxable transaction) is included in the amount of purchases of ¥14,920,000.
Of the purchases amount ¥14,600,000, the taxable transactions, tax rate 6.24% applicable amount is ¥8,700,000, tax rate
7.8% applicable amount is ¥5,900,000.

*The following expenses are those relating to all taxable transactions, breakdown the amount of each applicable tax rate is

as follows.
Subject Total 6.24% tax rate applicable 7.8% tax rate applicable
Utilities ¥105,000 ¥0 ¥105,000
Travel expenses ¥69,000 ¥0 ¥69,000
Communication costs ¥167,000 ¥0 ¥167,000
Advertising expense ¥96,000 ¥0 ¥96,000
Entertainment fee ¥76,000 ¥16,000 ¥60,000
Repair costs ¥121,000 ¥0 ¥121,000
Supplies expense ¥201,000 ¥0 ¥201,000
Miscellaneous Expenses ¥48,000 ¥20,000 ¥28,000

* Welfare expenses such as for worker's compensation and unemployment insurance of ¥81,000 are all covered by the
employer.

* Employee commuting expenses of ¥33,000 are included in the ¥1,233,000 salary expeses.

*Land and house rents of ¥120,000 are all land rent (Non-taxable transaction).

O Other items include refurbishing costs, ¥600,000 for shutters and ¥310,000 for display shelves.
O A delivery vehicle was sold for ¥280,000.

O There are returns, discounts and rebates relating to sales and purchases, however, the accounting method
used directly deducted these amounts from the sales amount or purchases amount.



Example of Table A: Kouno Store
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step.2 Calculate your total amount
of taxable sales

Use the table for calculating taxable sales

(Table B)(P38).

step.2-1

Enter the values appearing in (D(column C to E) of the

table for calculating taxable transactions

(for business income; Table A).

— Enter them in (D of Table B, respectively.
step.2-2

Enter the values appearing in @(column C to E) of the

table for calculating taxable transactions (for agriculture

income).

— Enter them in (@ of Table B, respectively.
step.2-3

Enter the values appearing in @(column C to E) of the

table for calculating taxable transactions (for real estate

income).

— Enter them in (® of Table B, respectively.
step.2-4

If there are taxable sales relating to other sources of

income, enter the amount of revenue and the portion of

that amount excluded from taxable sales and then
calculate the difference.

— Use @ to (® of Table B.

step.2-5
If there are taxable sales relating to income derived from
the transfer of fixed business assets enter the amount of
capital gains and the portion of that amount excluded from
taxable sales and then calculate the difference.
— Use @ to @ of Table B.

step.2-6

Calculate your total taxable sales.
— Use (9 of Table B.

Example of Table B: Kouno Store

step.2-1
Enter ¥ 22,380,000 (Table A, column C, @) in @ of Table B.

Enter ¥ 73,770,000 (Table A, column D, @) in (1)(6.24% tax rate
applicable) of Table B.

9,270,000 (Table A, column E, @) in ()(7.8% tax rate
applicable) of Table B.

Enter ¥

step.2-5
The sale of a delivery vehicle is treated as a transfer of a fixed
business asset.

The balance of taxable sales is obtained as follows.
¥ 280,000 — ¥ 0 = ¥ 280,000

Enter ¥ 280,000 in @ and © of Table B.
Enter ¥ 280,000 in @ and (9)(7.8% tax rate applicable) of Table B.

step.2-6

The total amount of taxable sales is obtained as follows.
¥ 22 380,000 + ¥ 280,000 = ¥ 22, 660,000

13,770,000

6.24% tax rate applicable ¥

7.8% tax rate applicable
¥ 9,270,000 + ¥ 280,000 = ¥ 9,550,000




. step.3 Calculate your tax base

step.3-1

Multiply the total amount of taxable sales (Table
B, (19) by 100/108 or 100/110, calculate the total
sales relating to taxable transactions and enter
them in (-1 of Schedule 1-3, respectively.

If using the "tax excluded accounting method(P36)",
calculate your tax base by adding the amount of
temporary received consumption tax, etc. relating
to taxable sales to your total amount of taxable
sales and multiplying the resulting figure by
100/108 or 100/110.

Ve

6.24% tax rate applicable

Taxable sales , 100 _
(tax included) X 1og = -1A Tax base

7.8% tax rate applicable

Taxable sales , 100
(tax included) X0 110 =(-1B Tax base

J

step.3-2

Enter the calculation result for step 3-1 in @ of
Schedule 1-3 rounding the figure down to the
nearest ¥1,000.

Example of Table B: Kouno Store

step.3-1

@) of Table B is obtained as follows.
¥13,110.000 X333 = ¥ 12,138,868
(Enter in M-1(column A) of Schedule 1-3)

1 of Table B is obtained as follows.
¥9,550,000 x5 =¥ 8,661,818

(Enter in M-1(column B) of Schedule 1-3)

Total amount is obtained as follows.
¥ 72,138,888 + ¥ 8,687,878 = ¥ 20,820,706

(Enter in M-1(column C) of Schedule 1-3)

step.3-2

Round down the figure(step 3-1) to the nearest ¥1,000 to obtain
the tax base.
Enter in @ of Schedule 1-3.

¥ 72,138,888 myp ¥ 12,138,000

(Enter in M(column A) of Schedule 1-3)
¥8,687,875 my ¥ 8,687,000

(Enter in M(column B) of Schedule 1-3)

Total amount of tax base is obtained as follows.
¥ 72,138,000 + ¥ 8,681,000 = ¥ 20,819,000
(Enter in M(column C) of Schedule 1-3)

The table for calculating taxable sales for Kouno Store is as follows.
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. step.4 Calculate your consumption tax Example: Kouno store

Calculate the amount of a consumption tax by
multiplying the " Tax base" of Schedule 1-3 by

the consumption tax (national tax) rate of 6.24% 6.24% tax rate applicable

or 7.8%. Enter the calculation result in @ of ¥ 72 738.000 X 6.24% = ¥ 757 4717

Schedule 1-3. (Enter in @(column A) of Schedule 1-3)
e B 7.8% tax rate applicable
6.24% tax rate applicable ¥ 8,687,000 X 1.8% =¥ 677,118
(DA Tax base ¥ 6.24% (Enter in @(column B) of Schedule 1-3)

¥ 7574711 +¥ 677118 = ¥ 1,434,529

7.8% tax rate applicable (Enter in @(column C) of Schedule 1-3)
(DB Tax base X 7.8%

= (@B Consumption tax
L J

Example: Kouno store

The amount of consumption tax is obtained as follows.

= (@A Consumption tax Total amount of consumption tax is obtained as follows.

To the following is an example of Schedule 1-3 filled in with results of calculations effectuated up to this point.

Below is a review of those calculation results.
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step.4

Completing your return

Calculation



step.5 Caluculate your total taxable
purchases

Use the table for calculating taxable purchases

(Table C) (P39) for calculating the taxable purchases
step.5-1

Enter the values in the table for calculating taxable purchases

(Table C) based on the figures appearing in the table for

calculating taxable transactions (for business income; Table

A, 39, column C to E)

— Use D of Table C.

step.5-2
Enter the amount appearing in the table for calculating taxable
transactions (for agriculture income, G, column C to E)
— Use (2 of Table C.
step.5-3
Enter the amount appearing in the table for calculating taxable

transactions (for real estate income, @4), column C to E)
— Use (3 of Table C.

step.5-4
If there are taxable purchases relating to other sources of
income, enter the amount of purchases and the portion of
that amount excluded from taxable purchases and then
calculate the difference.
— Use @ to (& of Table C.

step.5-5

If there are taxable purchases relating to the acquisition of

fixed business assets, enter the acquisition cost and the
portion of that amount excluded from taxable purchases and

then calculate the difference.

— Use @ to (@ of Table C.

*When you apply for the provision for restriction on purchase tax
credit pertaining to acquisition of residential rental building (P45),
enter amount added acquisition costs for such residential rental
building in the column (8 of [Table C].

step.5-6

Caluculate your total taxable purchases.
— Use (0 of Table C.

step.5-7

Caluculate the consumption taxes on taxable purchases by
multiplying your total amount of taxable purchases by
6.24/108 or 7.8/110.

— Use @) to 2 of Table C.

Example of Table C: Kouno Store

step.5-1
Enter ¥ 75,576,000 (Table A, column C, 63)
in @ of Table C.
Enter ¥ 8,736,000 (Table A, column D, 39)
in (10(6.24% tax rate applicable) of Table C.

Enter ¥ 6,780,000 (Table A, column E, G9)
in ()(7.8% tax rate applicable) of Table C.

step.5-5
The cost for shutter and display shelves incurred
when refurbishing the store is considered an
acquisition of fixed business assets.
The balance of taxable purchases is obtained as
follows.
¥ 970,000 — ¥ 0 =¥ 970,000
Enter ¥ 970,000 in @ and © of Table C.

Enter ¥ 970,000 in @ and
(9)(7.8% tax rate applicable) of Table C.

step.5-6
The total taxable purchases is obtained as follows.
¥75,576,000 + ¥ 970,000 = ¥16,426,000
Enter ¥76,426,000 in (0 of Table C.

6.24% tax rate applicable
¥ 8,736,000

7.8% tax rate applicable

¥6,780,000+ ¥ 970,000 = ¥ 7,690,000
step.5-7

) and (2 of Table C are obtained as follows.

@:¥ 8,736,000 x%‘ = ¥504.746

®:¥ 7690.000 x% = ¥545.290

The table for calculating taxable purchases for
Kouno Store is as follows.
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For calculation in steps 6 to 17, please use the table for calculating the taxable sales ratio and deductible

tax on purchases (Schedule 2-3) (P41).

step.6 Calculate the amount of the transfer
value of taxable assets, etc.

step.6-1
Enter your taxable sales, Tax-exempt sales, exports of
Non-taxable assets, etc. in the table for calculating the
taxable sales ratio and deductible tax on purchases (Schedule
2-3).
— Enter the values in @ to @ of Schedule 2-3.

step.6-2
Calculate the amount of the transfer value of taxable assets,
etc. (sum of M to @ of Schedule 2-3).
—Enter the calculation result in @(column C) of Schedule
2-3.

step.7 Calculate the amount of the
transfer value of assets, etc.

step.7-1
Enter the amount of the transfer value of taxable assets, etc.
(step 6-2) and the Non-taxable portion of each type of income
listed in Table B not considered taxable sales.
— Enter the values in ® to (® of Schedule 2-3.

step.7-2
Calculate the amount of the transfer value of assets, etc.
(sum of ® and (& of Schedule 2-3).
— Use @ of Schedule 2-3.

. step.8 Calculate the taxable sales ratio

Divide the amount of the transfer value of taxable
assets, etc. (taxable sales; step 6-2) by the amount
of the transfer value of assets, etc. (total sales; step
7-2).

(Note) Fractions of taxable sales ratio are, in principle, not
processed, but are allowed to be rounded down at any
decimal point.

— Use ® of Schedule 2-3.

step.9 Calculate the consumption taxes
on taxable purchases

Enter the total taxable purchases (tax included)
calculated in Table C (Table C (9) for the amount of
expenses (tax included) relating to taxable
purchases and enter the value in @ to @ of Table
C for the amount of consumption taxes on taxable
purchases.

— Enter the values in @ to 19 of Schedule 2-3.

Example: Kouno store

step.6-1
Enter ¥72,738,888 (Table B, (V) in M (column A)
of Schedule 2-3.
Enter ¥ 8,687,878 (Table B, @) in M(column B)
of Schedule 2-3.

Enter ¥ 20,820,706 in M(column C) of Schedule 2-3.

step.6-2

The amount of the transfer value of taxable assets,
etc. is obtained as follows.
¥ 20,820,706 + ¥ 0+ ¥0 =¥ 20,820,706

step.7-1
Enter ¥ 20,820,706 (Schedule 2-3, @(column C))
in ®(column C) of Schedule 2-3.

Enter ¥ 350,000 (Table A, W(column B)) in ®
(column C) of Schedule 2-3.

step.7-2
The amount of the transfer value of assets, etc. is
obtained as follows.
¥ 20,820,706 (transfers of taxable assets) +
¥ 350,000 (non-taxable sales) = ¥ 27,770,706

step.8
The taxable sales ratio is obtained as follows.
¥ 20,820,706 (transfers of taxable assets) +—
¥ 27,770,706 (transfers of assets) = 98.3 %

step.9
Enter ¥ 8,736,000 (Table C, (9(6.24% tax rate
applicable)) in ©(column A) of Schedule 2-3.

Enter ¥ 7,690,000 (Table C, (0(7.8% tax rate
applicable)) in ©(column B) of Schedule 2-3.

Enter ¥ 504,746 (Table C, @) in (9(column A)
of Schedule 2-3.

Enter ¥ 545,290 (Table C, @) in (9(column B)
of Schedule 2-3.

Enter ¥ 76,426,000 (Sum of ®(column A)
and ©@(column B) in ©@(column C) of Schedule 2-3.

Enter ¥7,050,036 (Sum of (9(column A)
and @9(column B) in @(column C) of Schedule 2-3.

Completing your return

Calculation



. step.10 Calculate the consumption tax on Specific taxable purchases

Sole proprietors with a taxable sales ratio (step 8) under 95% and have received business-to-business electronic services needed
to calculate.

. step.11 Enter the amount of consumption tax relating to taxable freight

Enter the amount of consumption tax levied, or the amount of any that should be levied, on taxable freight retrieved from bonded
areas.

* The amount of local consumption tax is excluded.

— Enter the value in (3 of Schedule 2-3.

step.12 Calculate the consumption tax adjustment if you have been granted or have lost tax
liability exemption status

It should be add when corresponding to A, and should be subtract when corresponding to B

A Amount of consumption tax adjustment if you were a Tax-exempt business in 2020 and became Taxable person in 2021

6.24% tax rate applicable

Expenses incurred for the acquisition of items relating to taxable
purchases (6.24% tax rate applicable) for the portion of inventory
held on December 31st, 2020 transferred in Japan within the
taxable period during which you were Tax-exempt business

6.24 __ @A Amount of consumption

X 108 tax adjustment

— Enter the value in (9(column A) of Schedule 2-3.

7.8% tax rate applicable

Expenses incurred for the acquisition of items relating to taxable
purchases (7.8% tax rate applicable) for the portion of inventory X 7.8 __ (9B Amount of consumption

held on December 31st, 2020 transferred in Japan within the 110 tax adjustment
taxable period during which you were Tax-exempt business

—s Enter the value in @(column B) of Schedule 2-3.

B Amount of consumption tax adjustment if you were a Taxable person in 2021 and became Tax-exempt business in 2022

6.24% tax rate applicable

Expenses incurred for the acquisition of items relating to taxable
purchases (6.24% tax rate applicable) for the portion of inventory
held on December 31st, 2021 transferred in Japan in 2021

B6.24 __ (A Amount of consumption
108 — tax adjustment

— Enter the value in (9(column A) of Schedule 2-3.

7.8% tax rate applicable

Expenses incurred for the acquisition of items relating to taxable .
purchases (7.8% tax rate applicable) for the portion of inventory X —Z:8- = ©B Arrt10untdpf (ionsutmptlon
held on December 31st, 2021 transferred in Japan in 2021 110 EPX Bl e

— Enter the value in (9 (column B) of Schedule 2-3.

Example: Kouno store

step.12
Calculate the consumption tax adjustment necessary in the event Kouno store became a taxable
business newly in 2021 losing its tax liability exemption status.
The amount of consumption tax adjustment is obtained as follows.

¥ 1,741,000 (initial inventory) x% — ¥ 123,452

20



step.13 Calculate the total amount of
taxes on taxable purchases, etc.

Calculate the sum of the consumption taxes on
taxable purchases (step 9), consumption taxes on
Specific taxable purchases (step 10), the consump-
tion tax relating to taxble freight (step 11), and the
amount of consumption tax adjustment (step 12).

— Use 3 of Schedule 2-3.

step.14 Calculate the deductible tax
on purchases

— Use (6 to @9 of Schedule 2-3.

A If taxable sales amounting to 500 million yen or less during
the taxable period and the taxable sales ratio (step 8) is 95%
or more, the total amount of taxes on taxable purchases, etc.
is completely deducted.

Deduct the entire amount of consumption taxes on
taxable purchases.

Total amount of taxes on __ Amount of deductible
taxable purchases, etc. —  tax on purchases

B If taxable sales amounting more than 500 million yen during
the taxable period or the taxable sales ratio (step 8) is under
95%, calculate using either of the following methods.

<ltemized method>

Example: Kouno store

step.13

The total amount of taxes on taxable purchases, etc.
is obtained as follows.

6.24% tax rate applicable

¥ 504,746 + %0+ ¥ 0+ ¥0 = ¥ 504,746
(Enter the value in @d(column A) of Schedule 2-3)

7.8% tax rate applicable

¥545290 +¥0+¥0+ ¥ 123,452 = ¥ 668,742

(Enter the value in (9(column B) of Schedule 2-3)

Total amount of taxes on taxable purchases, etc.
¥ 504,746 + ¥ 668,742 =¥ 1,173,488
(Enter the value in ((column C) of Schedule 2-3)

step.14

Taxable sales amounting to 500 million yen or less
during the taxable period and the taxable sales
ratio is 95% or more (step 8: 98.3%), therefore, the
total amount of taxes on taxable purchases, etc.
effectuated by Kouno Store is completely deducted.

This method is used to calculate the consumption taxes on taxable purchases by
separating it into 3 classifications: the amount required only for taxable sales
(including Tax-exempt sales), the amount required only for non-taxable sales and

the amount required for both.

Portion of the total

purchases, etc.that is required
only for taxable sales

Portion of the total amount of
amount of taxes on taxable + taxes on taxable purchases, etc.
that is required for both taxable ratio

and non-taxable sales

Taxable sales | __ Amount of deductible
~ taxon purchases

<Proportional method>

This method is used to calculate the deductible tax on purchases by multiplying
the consumption taxes on taxable purchases by the taxable sales ratio.

Total amount of taxes on Taxable sales
taxable purchases, etc. ratio

Amount of deductible
tax on purchases

* Business using the proportional method must have applied the method for 2years
or more consecutively to change to the itemized method.

Completing your return

Calculation
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. step.15 Adjust the amount of deduction

— Use @) to @) of Scheduled 2-3.
An adjustment of the amount of deduction is necessary if either of the following conditions apply to your circumstances.

A If the amount of consumption tax relating to acquired fixed assets subject to adjustment was deducted in your 2019 consumption tax return as per the
following stipulations resulting in a significant change in the average taxable sales ratio, calculate the amount of adjustment and enter the result in @ of
Schedule 2-3.

*The entire amount was deducted due to a taxable sales ratio of 95% or more

* Based on the itemized method, the deduction was made as taxable purchases corresponding
to both taxable and Non-taxable sales

*The deduction was made based on the proportional method

B Sole proprietors using the itemized method who have changed the application of acquired fixed assets subject to adjustment as per the following stipulations
within 3 years of acquisition should calculate that amount of the adjustment and enter the result in @ of Schedule 2-3.
*The application of the fixed assets was changed from taxable sales only to Non-taxable sales only
*The application of the fixed assets was changed from Non-taxable sales only to taxable sales only

What are fixed assets subject to adjustment?

Fixed assets subject to adjustment are assets excluding inventory assets, such as buildings
(including attached facilities),machinery and equipment, vehicles and conveyance equipment, tools,
fixtures, etc., purchased for ¥1,000,000 or more (tax excluded) per single transaction.

C If either of the following conditions apply to the residential rental building to which restriction on purchase tax credit pertaining to acquisition of residential
rental building*1, calculate its adjustment amount and enter it in the column @ of the Schedule 2-3.
*In case where that residential rental building was owned on the last day of the taxable period in the third year*2, and all or part
of that residential rental building was used for taxable rent*3 during the adjustment period*4.
*In case where all or part of the residential rental building was transferred to another person during the adjustment period.

* 1 Please see P45.

2 The taxable period in the third year means a taxable period that includes the day on which three years have elapsed from
the first day of the taxable period containing the date of purchase, etc. of the residential rental building.

3 Use for taxable rent means use for lease other than lease of a residential house deemed non-taxable.

4 The adjustment period means a period from the date of purchase, etc. of the residential rental building to the last day of the
taxable period in the third year.

5 For details, please read the leaflet, “Information on the Revision of the Consumption Tax Act (April 2020)” (in Japanese)
posted on the website of the National Tax Agency (https://www.nta.go.jp).

. step.16 Amount of the deductible tax on purchases

— Use @ of Scheduled 2-3.

Calculate the difference between the amount of deductible tax on purchases (step 14) and the adjustment amount of the
deductible tax (step 15).

If the result is positive, it represents your deductible tax on purchases (@, Schedule 2-3). Enter it in @ of Schedule 1-3.

If the result is negative, proceed to step 17.

. step.17 Calculate the tax adjustment for excess deductions

If the culculation result (step 16) is negative, enter that figure in @ of Schedule 2-3.

In the event accounts representing the sale of merchandise or the provision of services are uncovererable and become bad
debt, the amount of consumption tax included in those accounts receivable that became bad debt (herein, "bad debt") can
be deducted from the amount of consumption tax levied on the tax base. If you have recovered previously deducted bad debt
during the 2021 taxable period in whole or in part, calculate the consumption tax included in the recovered bad debt. Enter
the calculation result in @ of Schedule 2-3.

( )

6.24% tax rate applicable

Total amount of recoverd bad debt X 6.24 — ik ATETI! O CEEUIon 52

108 relating to recoverd bad debt
7.8% tax rate applicable

7.8 _ @B Amount of consumption tax
Total amount of recoverd bad debt X 190 = relating to recoverd bad debt
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https://www.nta.go.jp

Example of Schedule 2-3: Kouno Store

Kouno Store's table for calculating the taxable sales ratio and deductible tax on purchases is as follows.

#4-(10) 5k

f+#%&2—-3 BBLR LEIE RS ABESEOHER —
MmoOoBL WM 3-1-1~3-12-31 K4 X i 4 W Taro Kouno
» 4 B 624 % i@ A B E 78 % @ A ala B C
- A B (A+B)
[E] 5] E]
wos o® Ok o# (R o oF )0 12,138,888 8,681,818 20,820,706
% B * * H
MR EEOEME O EE g
WA K E s ~BELEEEOE S
P — R DI~
BHAEOHEEZOHBOE(D+D+@) @ 20,820,706
BMBEEEORESOMMOH (D0 &%) © 20,820,706
I i B 7 = % © 350,000
3 55 — 22 DK~
UEOBEEORMOE (O + ®) O /'*”;1,170,706
OB oO®E E B & (. ©® / © )O® [ 98.3%] s
BB AN ISR D LR O % (BLiA 2) | @ 8,736,000 7,690,000 16,426,000
(@AHH < 6.24/108) (@B < 7.8/110)
OB A MDD W OB B 504,746 545,290 1,050,036
AR UM@MIE, BT LRI 205%RM, 2o, FEMBEANSHLFREDLRMT S,
BEBRBMEANICES X 8o E O
(ADBH < 7.8/100)
BEBRBBMEANLICEZ BB BA O
WOB O WO R 5 WM OB OB OE®
MBEEORBREZ TRV (T D)
e N L L kKT 123,452 123,452
o W% (M B X 1z W # ) M
WM AR % 0 BB o A B A
(@@ BLD) ® 504,746 668,742 1,173,488
WA K L@ A5 MU T o
BB L E A N %L ko B A 504,746 668,742 1,173,488
(BD4:48)
[ 5 o5
@ BPI5 BRE LT ICOAET L0 @
6 B )
w5t BOIH BBLE LT EIEMBLE L ITIC
e N L %+ 5 b o ®
g T Z AR A B RS
0 BB O A R H o B WO
n @+ (B®*XD/D))
IFIXA% § N
B AR AL R T HRBUEAR | g
e BOBE  (BXD/D)
O b LA LB O W R EREICRD g
WO BLE O E (N X TR E) A
%
o PEER REE R BT GRRBLEB )| o
" R A L7 54 o B0 8 OB X B A
BOER O R LW B R g
= B L2 (BEBE L) B A O MG
%yé ﬁ? 2..]. % ﬁ: 7\ m %E AT 1-3DDAM~ At £ 1-30@BH~
£ (@, BUIDOH) LD+ D+ B) N FIADE @ 504,746 668,742 1,173,488
2l e 7 i@ * 25 = B P 5 [frzi-so@am~ %M #EI-30@BM~
(O, OXEODEH) =D+ +B) R~ AF A
{2 1-3D@ AR~ AT 1-30 @B~
B OE OE I e f 5 W OB OB OE®
TEE 1 RO RIZBOTIE, INRBOREEZVVIE TS,

2 ORI, 5] %, BIRL. BI51 &7 &t AR IR0 S B8 E (EAXHIEO RS O e HA A SENOEEREL TOLHAEER ) I, ZOSEAERL %O SMELKT 5,

(R2.4. 1LA B 6 T BRI )

step.6-1

step.6-2

step.7-1

step.7-2

step.8

step.9

step.10

step.11

step.12

step.13

step.14-A

step.14-B

step.15-A

step.15-B

step.15-C

step.16

step.17

Completing your return

Calculation
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l step.18 Calculate the amount of tax on value of refunds, etc.

24

If there were any returns, discounts or rebates charged against goods sold or provision of services, calculate the consumption
tax relating to those amounts and enter the result in ®-1 and ® of Schedule 1-3.

(PZVACHIEIC]  Amount of returns, x 6.24 _ (-1A Amount of tax on value
applicable discounts or rebates 108 of refunds, etc.

EYACIE  Amount of returns, ¢ 7.8 _ (®-1B Amount of tax on value
=l discounts or rebates 110 of refunds, etc.

*|f there is a value entered in ®-1 and ® of Schedule 1-3, it represents the amount of the transfer value of taxable assets, etc. in
step 6 of P19 minus the amount of returns, discounts and rebates multiplied by 100/108 or 100/110.

This calculation is not necessary if, as shown in the example, applying an accounting method that directly deducts any returns,
discounts or any other charges relating to sales from the amount of sales.

l step.19 Calculate the amount of tax relating to buy bad debt

In the event accounts representing the sale of merchandise or the provision of services are unrecoverable and become bad
debt, the amount of consumption tax included in those accounts receivable that became bad debt ("bad debt") can be deducted
from the amount of consumption tax levied on the tax base. Enter the result in ® of Schedule 1-3.

No deductions can be claimed for bad debt unless you have kept ample documentation that certifies the facts supporting the
writing off of account receivables and provides clear details pertaining to the bad debt.

CREVACRE]  Amount relating g 6.24 _ (©A Amount of tax relating
applicable to bad debt 108 to bad debt

Amount relating  y¢ 7.8 _ (©B Amount of tax relating
applicable to bad debt 110 to bad debt

No calculations are necessary for 3, (5, or ® in Schedule 1-3 pertaining to the amount of tax

on recovered bad debt, refunds and other charges and bad debt described below.

* Recovered account receivables relating to transfer value of taxable assets, etc. effectuated as a
Tax-exempt business

* Returns,discounts,etc. relating to transfer value of taxable assets, etc. effectuated as a Tax-exempt
business

+ Account receivables relating to transfer value of taxable assets,etc. effectuated as a Tax-exempt
business



. step.20 Caluculate the subtotal of deductible tax

Calculate the "@Subtotal of deductible tax" by adding the "@Amount of deductible tax on purchases", the
"(®Amount of tax relating to refunds and other charges" and the "®©Amount of tax relating to bad debt". Enter
the result in @ of Schedule 1-3.

"@Am_ount of “@Amount of tax "@©Amount of tax __ "@Subtotal of
deductible tax = relating to refunds =+ relating to bad debt" deductible tax"
on purchases" and other charges"

Completing your return
The subtotal of deductible tax is obtained as follows.
(Enter the value in @(column A) of Schedule 1-3)

¥504,746 +¥0 +¥0 =¥504,746

YA LR o) (o) S0 (Enter the value in D)(column B) of Schedule 1-3)

¥668,742 +¥0 +¥0 =¥668,742

e oo midsierd (Enter the value in @(column C) of Schedule 1-3)

¥504,746 +¥668,742 = ¥ 1,173,488

. step.21 Calculate the balance or the amount of tax refundable for insufficient deduction

Calculate the balance by subtracting the subtotal of deductible tax from the consumption taxes on taxable
sales (the sum of the consumption tax and the amount of tax adjustment for excess deduction) and enter the
result in © of Schedule 1-3.

"@Amount of + "®Amount off tax __ "@Subtotal of __ "©®Balance™
consumption tax" ajustment for " deductible tax" ™ *rounded down to
excess deduction the nearest ¥100

If the result of calculation using the above formula is negative, you may claim a refund. For such as case,
calculate the amount of tax refundable for insufficient deduction using the formula below and enter the result
in ® of Schedule 1-3.

"@Subtotal of "@Amount of "(3Amount of tax "(®Amount of tax

deductible tax" — consumption tax" ajustment for = refundable for

excess deduction" insufficient deduction"

Example: Kouno Store

The balance is obtained as follows.
(Enter the value in @ of Schedule 1-3)

¥ 1,434,529 + ¥ 0 — ¥ 1,173,488 = ¥ 261,041
¥ 261,041 — ¥ 261,000 (rounded down to the nearest ¥100)
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